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Finding Sum with Rounding

Name:

Use rounding strategiesto find the sum. Answers
/ Now we can mentally add and find the\
Rather than lining up the place values, one strategy isto solution.
round to the highest place value and solve mentally. 200 + 236 = 436 1
194 + 236 = But since we added 6 to 194 (to make it 200), |[|[ 2.
now we have to take 6 away.
In the exampl e above 194 rounds up to 200. That would make
our problem look like: 436 - 6 =430 3.
200 + 236 =
x And now we have our sum. / 4
1) 92+199= 2) 95+ 627 =
5.
3 97+127= 4) 94+ 804 = 6.
7.
5 93+ 154= 6) 298+ 613 =
8.
7) 198 + 798 = 8) 499 + 269 = .
10.
9 592+ 215= 10) 297 + 402 =
11.
11) 92+ 206 = 12) 96+ 616 = 12.
13.
13) 591+ 387= 14) 196+ 538 =
14,
15) 395 + 416 = 16) 397 +422= 15
16.
17) 93+ 851 = 18) 195+ 782 =
17.
19) 195 + 284 = 20) 299 +239 = 18,
19.
20.
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Finding Sum with Rounding

Name:

Answer Key

Use rounding strategiesto find the sum. Answers
/ Now we can mentally add and find the\
Rather than lining up the place values, one strategy isto solution. 201
round to the highest place value and solve mentally. 200 + 236 = 436 1
194 + 236 = But since we added 6 to 194 (to make it 200), |[|[ 2. (22
now we have to take 6 away.
In the exampl e above 194 rounds up to 200. That would make
our problem look like: 436 - 6 =430 3. 224
200 + 236 =
& And now we have our sum. / 4 808
1 = 2) =
92 + 199 291 95 + 627 722 . 547
3 g7+127= 224 %) 94+804= 898 6. 911
7. 996
5 93+1564= 247 6) 298+613= 911
8. 768
7) 198+798= 99 8 499+269= 768 9 807
10. 699
9 592+ 215= 807 10) 297 + 402 = 699
11. 298
11) 92+206= 298 12) 96+616= 712 12 712
13. 978
13) 591 +387= 978 14) 196 + 538 = 734
14, 734
15 395+416= 811 16) 397 +422= 819 5 811
16. 819
17) 93+851 = 944 18) 195+ 782 = 977
17. 944
19) 195+ 284 = 479 20) 299 + 239 = 538 8 977
19, 479
20. 538
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